< & ¢@>(rad)

< opJp, > (%)

Ratio

1 2 3
TP n (PCA to beamline)

X

=

(=)
&

I
[N}

N F H
e F :
Q0.5 e :
o r n
o E :
v Ot : :

o . # !
0.05f -+ : RS
e 1

~0.08f -+ e
=04 :
=0.15ff - erpeeee
0 -0.2ftrnho e b
< 15
o 1k '“Mnl!n
05 i
-2

-1 0 1

2

—— D VECTTOT_1000EVT
—e— D | e

—— D | 4 1'00 ev

—— D

—— D

t
Oev!
0

3
mline)

%
T

al

-2 -1 0 1 2 3
TP n (PCA to beamline)

o

N WD
RESEEEARAS;

o

12 3
TP n (PCA to beamline)

[y
D 0 O
o O

LI L L L L L L L L L §

< 8d,> (um)
N
(@]

20

...........................

9
)

*m« %m«

-1 0 1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


